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End,cls
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rem This is remark 19 | yem ©) )

A$="Text" Wignrz,axy |79 N
Input Var 471 A>B X$=Y$ an N$ ©

(12) (6)

A>B and C<>4 +

(4)

. 18
Print (18)

Lo JS e Jle ma ba S5T cole oz &M J] QBASIC 3 5 ey le got @it ¢
A=Z,a-z eV Gy A de peg [ OV
0,1,2,3,4,5,6,7,8,9 @sﬂ‘ i gez |

+ - F /N A > <=5, 870! gsﬁ&by}\uﬁ; )

QBASIC 53 1591 £, 4 bl e US ST oy )7 ot

(s*u*mA2+2*n)"0.5 gf . Ry

((3*a)—(2*bA2+a*b))/((5*b-a+4)*(6*b))

5*rN2*abs(3*bN3—sqr(4*ar4))
P

sqr({(c;\};% + 3*c)/abs(c-3))

(@r2*bA3-3*(2-2*r))/ n — sqr(n*2+4)

(@”"3 — (2*b+d))/sqr(4*c+d)

3*x"2/(6*b)*sqr(a*b”2 + 4*Db)

sqr(x — 3*y"2+(x-5)/(5+y)+25) (1)
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2 *N<>nl *n2 AN 2 <= (N+M)
-R =F XAN3>M-6
"JORDAN" = X$ 157100 *T >3 *E
WA/72>WO /4 math + science < English
mark < 85 and av >= 75 (n2 —n1) * 5 >=n3 mod 8
cos(60*3.14/180)+6<= 5/100%*t sqr(abs(br2 — 4*a*c)) <> cInt(m)
V>RANDV<T 13) 3 *Y = Fix((XA3 — 2*X*Y)"2)
15) avg > 70 and avg < 90
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AL ekl Cognait o)

Print nS + "4"

1 V4 . . ”
) 10 rem "this is remark

Print rem$+“End”

2) let$="symbol”

Print reme = 12 * n

3
)rem ="100"

Input Var$

4)
rem$ = "remark"

Input XYZ

ab = ab

Input a$ ,t5, b2S

ba =2 *d4

Input “This is a Exam”; X$

let reme = XY

Input "input three numbers:"; ab, c

let tom= 6—-3%b

IF X$>YS$ Then print S$

Y= sin(30)

[F A>=50 Print "Pass” else Print 50
[F N>M Then Print A

N$=N &f\%\Amman "
AS S7Al" + AS

IFAS="2" Thenrem A = 2 els 4
FORL =1TO 3 A

ﬁ;?r@fnt m$ = “amman”
W W

Print X$+"4"

For counter= F to L Print sqrX

FOR n =1 to5 step—2

Print 4 * rema

Print (b—b)/15

16)

t Sl S i) QBASIC & s 3415 &2 5 Ham 512 00,500

rem f1r\st éﬁBASIC program

rem "f(}éBASIC is my game)
B=NA"2mod8

N = cos(60 * 3.14 7 180) +4
TS =X$ +Y$

X$ = "Jordan is my home"
Input nl1 , n2 , n3

Input a$ , b$ , c$

Inputt$ ,a,b

Input name$ , gl , g2, g3
Input "enter two numbers:" ; nl , n2

Print A, A/2,A/74,5/100 *A
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Print ,,,m

Print ,, "R"

Print ,,,,, "Good Luck"

Print w§ + w$ ; w$

Print w ;| 2*w | 3*w ; 4*w

Print X mod Y

Print cint((n1+n2) / 2))

Print "The sum is:"; G1+G2

IF X>Y Then max=X else max=Y

IF A < 2*B Then N = 4 else End

IFS>90and S < 180 Then Print sin(S*§\.\1 4/180)
b

IF W <> 4 Then Print "w" )
et
IF income <=5000 Then tax = 1 5/1b0 * income

IF R <> 4 Then »«@

input a, b

printa + b
End IF
e

IFN = 0O Then_ -

rem my program

ELSE .~

End IF
I[F N > O Then Print NA2 ELSE Print "zero”

[F N=abs(N) Then Print N2 ELSE Print "zero"

IF B<O Then Input n ELSE Print "fail"
IF B=—abs(B) Then Input n ELSE Print "fail"

IF X<0 or X >10 Then Print X , abs(X)

IF N mod 3 = O then sum = sum + N
IF N/3= N\3 then sum = sum + N

IF N/3= Fix(N/3) then sum = sum + N
IF N/3= Int(N/3) then sum = sum + N
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IFYmod 2 =0andY > O Then End
IF F <> Fix(F) Then Print F—Fix(F)

IF F <> Int(F) Then Print F—Fix(F)

IF F <> cInt(F) Then Print F—Fix(F)
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QBASIC &3, o 515 ihott 42 101 ab UL S el oy 2

]

Print (aA2+bA2)A0.5

X = Fix(k/ 3)

Print nA2/M0.5

Print K\4

Print Fix(3.665)

Print AS+BS

print 4*(A — B)A2

Print "Amman", ,,,, 2017

Input "enter your name and salaryi"f; name$ , salary

Print sqr(A) Print AANO.5

Print ABS(X) .

IF n/2<>Fix(n/2) Thﬂfen*lsrint n

[Fnmod 3 = O Then Printn N 2

IF A >=10 Then Print A

IF A <= B Then Print "A*B”

[FX <10 or X > 10 Then Print X

IF X > 5 Then
rem Print X else X = X + 2
End if

Print "remark"

IF income>=5000 then Print 0.23*income ELSE Print 0.1 5*income

et el 3kl sl
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IF L< >W Then Print W * L ELSE Print L * L
IF N >= O Then Print Fix(N)
IF X<>Y Then Print X+Y ELSE rem print x—y

”on ”on ”

Print "aaa”,”aaa”,”aaa

Print 50

Print 3

Print "Amman" , 51
Print 5 ; 25

FOR n = 3 to 30 step 3

sum = sum + n

Next n

for] = 5 to 50 step 5
Print I

Next 1

forn =3 to 15 step 2

sum =sum + n N 2

Next n

:W&UE.:»:»
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= OFel e J

Print SQR(2 ¥ SQR(15 A 2) + ABS(Fix(4.8) — Int(10)))
S 9 5—Y 6—)

XAN0.5 —¢ 44—y
el Y gy addedl Jo gttty c3 gl b5 — 1 el oy 3 rem LU LS — 0

tads 2 el e Col S QBASIC il Y1 201 pdadll oo

-

”_.nmn

a,b, abzésxﬂm a” , "The values of outputs are:" T3S ol

‘(\)

"The values of outputs are:" : & ye “This is a very important program” : ik>"M.

Int(as/b) = Fix(a/b) : jikw ,.x5 End, rem "This is a very important program” : Oldles
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The values of outputs are: O a

.. . s ( BTN
0 & gadl i Ay £ 5 'C"JMJ‘“;"“}

a0 0mpline al\b o
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Input X, Y, A$

cls

if x>y then

print X,Y,3*X-Y
else

print A$ ,Y ,y \ X
print “Redo From start”

End if
gi;b e g ol ) i) gl oW

dpl) e
N/

y
? 2,8, "Jordan”
Jordan 8

Redo From start

P
w gy

s Y 2l o ¢ QBASIC ik Sy 51 el ool

omls Vo enl ) o i |
number is: — Y 2,3,1—Y .Y+ X —)

Y = 1S 1) el A o

number is: 1

1 0 2

2511 Lol Al pltsealy ! el 1 3 531 0 IF 3,201 s Y1 e 28 el

IF X < 3 Then

Print AS
ELSE

REMN = 4
END IF
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Sl e S e Tl o Bald) Akt o el —
X=X+1 .~ X=4 .o X+1 i
B e ass Sk (gl Y1 s A aldsenl O g TF dla GLS— Y
IF X<> 4 THEN X = X + 1
X=2 103 IS 13) el 1 d gl 81— ¢

@@J‘&“S}‘u}w‘fs ‘QBASIC&LU{&}@?\CABJJ\&JJ\J
CLs NS

Print "enter mark & name:"; “‘;;f
Input X , A$
X = X mod sqr(16)
Print XS
REM let N$ = "100”
End
Sl JS e Taomls Yo oShel pmals 1 o - il |
Audeas &l M—Oﬁgbw P — ¢ (P oY L S OB gl )
e Wy —A s dle =V Il Al — 1
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el Y e oo Al s Y i

X s delbyoley b, CS)

Input a, b, ¢
F =sqr(2*a — b2 * 2 / ¢)
Print F

0 5L5 Y Clee Fawddelb s oley L2l ST
Input a, b, ¢
IF C=0 Then
F =sqr(2*a — b2 * 2 / ¢)
Print F

End IF
; 3

BJAW F:\A..:;Q&L.Ja.s wfuﬁ\c

I t , b, o
nput a c B
F=sqr(2*a—-b"2*2 /c¢c)
L u3
FORn =1 to 50 gf
Print F y

next n

L QBASIC i3, SelS s b (26, 251 0y 000

2) N4 1)

Input a, b, d i ﬁ} Input X$

Print 2 *a, b A 2, fix(sqr(d)) Print X$ ; X$ ; X$

4) 3)

Input F Input n1 , n2
F=5/79*(F - 32) D = abs(nl — n2)
Print F Print n1 , n2,D

6) 5)

Input salary Input r
income = 12 * salary V=4/3*3.14*r "3
tax = 237100 * income Print V

Print tax
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8)
Input Y2,Y1,X2,X1

M= (Y2 - Y1) /7 (X2 - X1)
Print M

7)

Inputb, v, x
F=(b+sqriv—v*b)) / x
Print F

10)

Inputa, b, c

IF (a< b and a< c) Then Print a
IF (b< a and b< c) Then Print b
IF (c< a and c< b) Then Print ¢

9)

Input N, C

F = sqr(N — 4 * CA2)/4 + ABS(N - 3*C)

Print F

12)

Input X
IF X <> 2 Then

F=3"*"XA2 *tan(50 * 3.14 7/ 180)

Print F
End IF

11)

Input n1 ,n2

~ 3

[Fnl< O TQ\eﬁ:’f’rint n2 , abs(nl)

N .

N4

LY
v ey

15)

FORJ=11t010
Print J , abs(J"2 — JA3)
Next J

:1 4)

Input X

[FX< 10 ThenF=XA3

IF X >=10 Then F = SQR(X + 5)
Print F

17)

FORJ=10to —10 step —1
Print ABS(J) ;
Next J

16)

FOR J = 5 to —5 step—1
Print J ;
Next J

19)

sum = 0
FOR J = 2 to 65 step 2
sum = sum + J

Next J

Print sum

18)

FOR J = 15 to 3 step—3
Print J ;
Next J

et el 3kl sl
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21)

FOR J =30 to 150 step 15
Print cInt(tan(J*3.14 / 180))
Next J

20)

FOR J = 5 to 44 step 2
Print J
Next J

23)

FORK=1to 10

Input N

IF N mod 5 = O Then Print N
Next K

22)

FORK =1 to 50

Input N

Print N , NA2 , "Jordan"
Next K

25)

C=0
FORK=11to 10
Input N

IFNmod2<>0ThenC=C+ 1

Next K
Print C

24)

— 5, \\
sum = 0 N

FORK = 1 to/10

%,

Input

IF l§<w@0 Then sum = sum + abs(N)

W)
Next' K

ﬁint sum

27)

FOR J =7 to 100 step 7
Print J
Next J

26)

FORK=1to 10

Input N

IF N = Fix(N) Then Print sqr(N)
Next K

28)

FOR J = —5 to 9 step 2
Print ABS(J) ,
Next J

28)

FORJ =30to —15 step —2.5
Print J ;
Next J

28)

FOR J = 2 to 12 step 2
Print "N * 3" ,J AN 2
Next J

28)

FORJ=1to 6
Print J ; JA2 ;
Next J

et el 3kl sl
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28)

FORJ =3 to 30
IF J mod 2 = O Then
Print J , "Even"
ELSE
Print J , "Odd"
END IF
Next J

28)

FORJ=-3 to9
IF J mod 2 = O Then
Print "N" ;J A 2
ELSE
Print "N" ; —J A 2
END IF
Next J

30)

Input x

m=1

FORa =7 to 1 step —1
m=m *a

Next a

m=xA2+m

Print m

30)

Input N, x

F=0 O\
Ny

FORa =1 toN

P

sum=-s:ufil+(1 /afh2* (x+5H))
F

Next a>
r

72N
F '=§§um
\‘:

ﬁmt sum

34)

Input x , n
sum = O
FORJ=1TON

sum =sum +J A 3
Next J
sum = X / sum

Print sum

32)

Inputa,b
sum = 0
FORL =2 to 10
sum =sum +a*bA 3
Next L
sum = (3 *a+ 2) /(3 *b) * sum

Print sum

34)

Input n

FORJ =3 TOn
sum =sum +d / 3

Next J

sum = 100 * sum

Print sum

33)

sum = O

FOR J = 4 to 40 step 4
sum =sum + 1 / J

next J

Print sum

et el 3kl sl
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35)

fact = 1

sum = O

FORK =5 TO 1 Step —1
fact = fact * K
sum = sum + K

next K

sum = fact / sum

Print sum

b2l 48 3 dedsed) by a0l el

n>0 (1)
nwjl\b.k.’d\.jaj&

n = abs(n)

n<O0 @)
n <> abs(n) ’

nmod X =0 §
n/X = n\X N2 X osdall wlaeliae o m LJ& ©

n/x = Fix(n/X) LB 09Xl e il Lan b s
n/X = Int(n/X)

nmod 2 =0
n/2 =n\2 n L;’fﬁjj‘ sdll b L& “

n/2 = Fix(n/2) L SL O 200l e dendll Lan b s

n/2 = Int(n/2)

@JJ'JUJ.JLJJ&U.SS- n%;.sjﬂ\.s.x.zj\laja(m
<>,k = ol (SO 2ol e il L V¥ nb s

Fix(n)

int(n) n C:.x,d\ sdll b L& ©)

cInt(n)
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:QBASIC i JA’- s ,_} dovuo ol JSLAJ“ f‘-)é«lw‘
Aol Ales me (Ol SNl & yie s oo 53 b Bl 1 8 gl D, (V)
Print "sum=", X+Y Print “today is:”; day$

db)?\%@b’)ﬁjﬂ Y-l A.X.C—j;\;?\bcyﬂ)ﬁ rwz\.}u) ry\f—:}/’\ ZULwJ(Y)
s 513 Cpais g 3 LS s

s Js ¥l e e e WDy o (N BN (6522 delb Tt JoY) llaxr o OT (V)

Input "enter three numbers:"; n1,n2,n3 Print "enter three numbers:"

[ 4

3l Input nl1 , n2 , n3

Input "enter three numbers:", n1,n2,n3
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